United Independent School District Police Officer Uniforms, Equipment, & Accessories RFP 078-2011

Discription		А	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT [Distribu	itors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quo	te		15%			10%	,
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
Section I. Police Officer Uniforms and Safety Boots		=		-				-			=		
WOMEN'S POLICE OFFICER UNIFORM LONG SLEEVE SHIRT with: *fused banded collar *extra long tails *large, pleated pockets have lined scalloped flaps and hook and loop closures *lang large badge to about left people.													
*long, loose badge tab above left pocket *cotton blend inner yoke and collar band *five stitched in military creases *cross stitched shoulder straps *fully lined placket fronts *machine wash and dry *light blue Sizes: 32-48 Reference: Gall's SH455 Women's Elbeco Long Sleeve Tex Trop	20	No Bid	No Bid		No Bid	No Bid		30.79	\$615.80	AS SPECIFIED	\$29.61	\$592.20	ELBECO #9313LC
WOMEN'S POLICE OFFICER UNIFORM SHORT SLEEVE SHIRT with: *convertible collar *extra long tails *large, pleated pockets have lined scalloped flaps and hook and loop closures *long, loose badge tab above left pocket *cotton blend inner yoke and collar band *five stitched in military creases *cross stitched shoulder straps *fully lined placket fronts *machine wash and dry *light blue Sizes: 30-48 Reference: Gall's SH454 Women's Elbeco Short Sleeve Tex Trop	20	No Bid	No Bid		No Bid	No Bid		26.99	\$539.80	AS SPECIFIED	\$26.68	\$533.60	ELBECO #9813LC

Discription		А	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT I	Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quot	te		15%			10%	
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
MEN'S POLICE OFFICER UNIFORM LONG SLEEVE SHIRT with: *long sleeve zipper-front polyester shirt *fused banded collar *extra long tails *cotton blend inner yoke and collar band *stitched in military creases *fully lined placket fronts *machine wash and dry *light blue Sizes: 14 ½ - 22 Sleeve Length: 32-38 Reference: Gall's SH531 Elbeco Tex-Trop Zipper Front Long Sleeve Polyester Shirt	100	\$43.95	\$4,395.00	35W7826FE CHHE: MG BROS.	No Bid	No Bid		\$30.79	\$3,079.00	AS SPECIFIED	\$29.61	\$2,961.00	ELBECO #Z313
MEN'S POLICE OFFICER UNIFORM SHORT SLEEVE SHIRT with: *short sleeve zipper-front polyester shirt *convertible collar *extra long tails *cotton blend inner yoke and collar band *stitched in military creases *fully lined placket fronts *machine wash and dry *light blue Sizes: 14 ½ - 22 Reference: Gall's SH532 Elbeco Tex-Trop Zipper Front Short Sleeve Polyester Shirt	170	\$42.95	\$7,301.50	85R7826 FECHHE : MC2 BROS	No Bid	No Bid		\$27.69	\$4,707.30	AS SPECIFIED	\$28.83	\$4,901.10	ELBECO #Z3313
WOMEN'S POLICE OFFICER UNIFORM GABARDINE TROUSERS with: *extra deep, quarter top pockets *1" belt loops *elasticized waistband *french fly for additional support *double pile, cotton-blended crotch lining for added comfort *bar-tacked at stress points for superior durability *machine wash and dry *navy blue *1½ " stripe in light blue Sizes: 4-26 Inseam: 30-34 Reference: Elebeco E9314LC Women's Tex-Trop Polyester Gabardine Trousers	20	\$42.95	\$859.00	3933 FECHHEIME N BROS	No Bid	No Bid		\$31.99	\$639.80	AS SPECIFIED	\$34.38	\$687.60	ELBECO #E9314LC

Discription		А	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT [Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quo	te		15%			10%	,
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
MEN'S POLICE OFFICER UNIFORM GABARDINE TROUSERS with: *extra deep, quarter top pockets *1" belt loops *Comfort Stretch waistband *french fly for additional support *double pile, cotton-blended crotch lining for added comfort *bar-tacked at stress points for superior durability *machine wash and dry *navy blue * ½ " stripe in light blue Sizes: 28-54 Inseam: 30-36 Reference: Gall's TR165 Elbeco Men's Tex-Trop Polyester Gabardine Trousers	170	\$42.95	\$7,301.50	LOT # 3900 FECHHE: MER BROS	No Bid	No Bid		\$31.99	\$5,438.30	AS SPECIFIED	\$34.38	\$5,844.60	ELBECO #E314
MEN'S TACTICAL PANT WITH: *classic fit *colors: navy blue, black or khaki Sizes: 28-54 Inseam: 30-36 Reference: 5.11 Taclite Pro Ripstop Pants	30	No Bid	No Bid		No Bid	No Bid		\$36.31	\$1,089.30	AS SPECIFIED	\$37.70	\$1,131.00	511 TACTICAL 74251
MEN'S TACTICAL PANT – NYLON CANVAS with: *wicking finish; quick drying *seven pockets: two front, two rear, and side cargo pockets, plus a mag/cell phone pocket on left side *action waist for greater mobility *double reinforced seat and knee *hidden knee pad pockets *machine wash *colors: navy blue, black or khaki Sizes: 28-44 Inseam: 30-36 Reference: 5.11 Taclite	20	No Bid	No Bid		No Bid	No Bid		\$31.99	\$639.80	AS SPECIFIED	\$37.70	\$754.00	511 TACTICAL 74273
WOMEN TACTICAL PANT *Rip Stop Pant Color: Khaki and Navy Blue Reference: 5.11 Taclite Pro Ripstop Pants	6	No Bid	No Bid		No Bid	No Bid		\$36.31	\$217.86	AS SPECIFIED	\$36.71	\$220.26	511 TACTICAL 64360

Discription		А	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT [Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quot	te		15%			10%	
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
WOMEN'S TACTICAL PANT with:													,
*8.5 oz 100% cotton trousers													
*tactical canvas material													
*action waist for greater freedom of movement													
*Velcro cargo pockets													
*hidden knee pad pockets										4.0			544 TACTICAL
*tool strap	3	No Bid	No Bid		No Bid	No Bid		\$36.31	\$108.93	AS SPECIFIED	\$36.71	\$110.13	511 TACTICAL 64358
*double reinforced knees										SPECII IED			04330
*double reinforced seat													
*colors: navy blue, black or khaki													
Sizes: 28-44													
Inseam: 30-36													
Reference: 5.11 Taclite Pro Ripstop Pants													
UNISEX 5.11 Taclite Long Sleeve Shirt													
*2 Pocket with Badge Strip													
*Short Sleeve													
Sizes: S-XL	30	No Bid	No Bid		No Bid	No Bid		\$36.31	\$1,089.30	AS SPECIFIED	\$37.12	\$1,113.60	511 TACTICAL
Sizes: 1XL-4XL										SPECIFIED			71175
Color: Navy Blue & Khaki													
Reference: 5.11 TacLite Shirt													
UNISEX TACTICAL SHIRT													
*2 Pocket with Badge Strip													
*Long Sleeve													PROPPER
*Poly/Cotton	40	Nie Dist	Nie Bist		N. Did	Nie Diel		N - Bid	N. Bis		#00.40	#004.00	F531250 -450
Sizes: S-XL	10	No Bid	No Bid		No Bid	No Bid		No Bid	No Bid		\$33.19	\$331.90	NAVY
Sizes: 1XL-2XL													-250 KHAKI
Color: Navy Blue & Khaki													
Reference: Propper													
ALL SEASON JACKET													
*Zippered side vent with snap closure allows for easy access to your duty rig *Taslan® nylon shell with Zip-in Thinsulate® liner													
*Zippered side vents with snap-tab closures													GERBER
*Cargo pockets with snaps													OUTERWEAR
*Under-the-arm zippers for ventilation	10	No Bid	No Bid		No Bid	No Bid		\$79.99	\$799.90	AS	\$82.65	\$826.50	GOW-71N1 (
*Knit cuffs and waistband		l Dia	110 Dia		110 Dia	110 Dia		ψι σ.σσ	ψ100.00	SPECIFIED	Ψ02.00	\$020.00	NAVY)
*Hidden inside pocket													GOW-71N3 (
*Shoulder epaulets and badge tab													BLACK)
Sizes: S-3X													
Length: Regular or Long													
Reference: Gall's JA102 All Season Jacket													

Discription		А	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT [Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quot	te		15%			10%	
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
TACTICAL WATERPROOF PRECINT JACKET													
*Double-welt center front with internal storm flap gives added protection against rain and wind *Two front hand pockets with Velcro® flap closures *Lower back pocket *Zipper sleeve pocket *BBS chest pockets *Bi-swing shoulder for more range of movement *Functioning epaulets Sizes: S-3X Color: Black and Navy Blue Reference: 5.11 Tactical Jacket or Gall's JA486	5	No Bid	No Bid		No Bid	No Bid		\$158.54	\$792.70	5.11 48103 SEE ATTACHED SPECS	\$153.40	\$767.00	*DISCONTINUED ITEM* SUBSTITUTE: 511 TACTICAL 48103 SIGNATURE DUTY JACKET
REVERSIBLE WINDBREAKER (reversible Lime Green to Black) Sizes: S-XL; 1XL - 4XL Reference: First Class	45	\$49.95	\$2,247.75	As specified	No Bid	No Bid		No Bid	No Bid		\$95.49	\$4,297.05	511 TACTICAL 48095
TACTICAL QUARTER BOOT *Haste Patrol Boot Black Sizes: 4-15 Width: Medium, Wide Reference: 5.11 HASTE QUARTER BOOT	45	No Bid	No Bid		No Bid	No Bid		\$86.99	\$3,914.55	AS SPECIFIED	\$83.15	\$3,741.75	511-11008
*Leather/Nylon Upper *Non-metallic with composite shank *Moisture wicking and antibacterial treatment *Compression molded insole *M-Pact contoured sockliner with memory foam *YKK side circular zipper with nylon tab cover; easy on/off *colors: Black Men's Sizes: 8-14 in med and wide widths Women's Sizes: 5-11 in med and wide widths Reference: Bates IP-SP931 Mens; Bates IP-FW005 Women's	45	No Bid	No Bid		No Bid	No Bid		\$81.99	\$3,689.55	AS SPECIFIED	\$79.85	\$3,593.25	

Discription		Α	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT [Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quo	te		15%			10%	
I ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
ZIPPER BOOT -TACTICAL BOOT - QUARTER BOOT - 6" zipper boot *Bates Individual Comfort System *Leather/ballistic nylon uppers *Fiberglass Shank; slip and oil resistant rubber outsole; non-metallic *Tread design provides natural walking motion *Multi-directional lugs provides maximum grip and stability *YKK side zipper with textured rubber tab cover; easy on/off *colors: Black Men's Sizes: 8-14 in med and wide widths Women's Sizes: 5-11 in med and wide widths Reference: Bates Individual Comfort System	45	No Bid	No Bid		No Bid	No Bid		\$77.99	\$3,509.55	AS SPECIFIED	\$79.85	\$3,593.25	
POLICE CAPS *lightweight lo-pro cap *six-panel style *stitched eyelets for ventilation *adjusted slide buckle for a custom fit *navy Section II. Police Accessories	115	No Bid	No Bid		No Bid	No Bid		\$9.49	\$1,091.35	AS SPECIFIED	No Bid	No Bid	

ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED		EXT. PRICE	BRAND & MODEL PROPOSED	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if
48" PVC VYNIL RAINCOAT WITH CHOICE OF TITLE (I.E. CROSSING GUARD, SECURITY, POLICE OFFICER, ETC.) Reference: Gall's RW032	60	No Bid	No Bid		No Bid	No Bid		\$12.99	\$779.40	AS SPECIFIED	No Bid	No Bid	
NICKEL FINISHED HANDCUFFS Reference: Gall's RS021 Smith & Wesson Nickel Finished Handcuffs	55	\$25.95	\$1,427.25		No Bid	No Bid		\$21.99	\$1,209.45	AS SPECIFIED	\$20.70	\$1,138.50	PEERLESS 700
TRAFFIC MESH BLUE VEST "POLICE" SIZES: Small and Large Sizes Reference: Gall's HS190	30	No Bid	No Bid		No Bid	No Bid		\$23.99	\$719.70	AS SPECIFIED	No Bid	No Bid	
TRAFFIC REFLECTIVE SECURITY VEST "SECURITY" SIZES: Small and Large Sizes Reference: Gall's HS235	30	No Bid	No Bid		No Bid	No Bid		\$12.99	\$389.70	AS SPECIFIED	No Bid	No Bid	
~BODY ARMOR Reference: Gall's BP337	15	No Bid	No Bid		No Bid	No Bid		\$612.50	\$9,187.50	GALLS BP455 *SEE ATTACHED SPECS* FXTRA	\$592.50	\$8,887.50	SECOND CHANCE MR01 LEVEL IIIA
ADJUSTABLE BLACK BELT WITH VELCRO INSIDE – SAM BROWN Reference: Gali's NP251	30	No Bid	No Bid		No Bid	No Bid		\$9.99	\$30.00	AS SPECIFIED	\$15.70	\$471.00	BIANCHI 8100

Discription		А	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT I	Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quo	te		15%			10%	
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
POLICE DUTY HOLSTER *Black Hawk Level III Serpa Duty Holsters Reference: Gall's LP568	10	No Bid	No Bid		No Bid	No Bid		\$84.99	\$849.90	AS SPECIFIED	\$66.46	\$664.60	
HIGH RIDE BELT LOOP Reference: Gall's ZA1452	10	No Bid	No Bid		No Bid	No Bid		\$12.99	\$129.90	AS SPECIFIED	No Bid	No Bid	
~POLICE DUTY RIGS Reference: Bianchi Accumold – IP-NP369 or Safariland IP-LPOTO	7	No Bid	No Bid		No Bid	No Bid		\$18.69	\$130.83	BIANCHI 24023 SEE ATTACHED	\$17.07	\$119.49	
~DOUBLE MAGAZINE Reference: Bianchi Accumold IP-NP352	7	No Bid	No Bid		No Bid	No Bid		\$26.99	\$188.93	AS SPECIFIED	\$27.43	\$192.01	
~HAND CUFF CASE Reference: Bianchi Accumold IP-NP351	7	No Bid	No Bid		No Bid	No Bid		\$19.69	\$137.83	AS SPECIFIED	\$19.97	\$139.79	
~ADJUSTABLE RADIO HOLDER Reference: Galls NP445	7	No Bid	No Bid		No Bid	No Bid		\$27.69	\$193.83	AS SPECIFIED	\$27.97	\$195.79	
~FOUR SNAPS BELT KEEPER 11/8 Reference: Bianchi Accumold IP-NP354 ~UNDER BELT	7	No Bid	No Bid		No Bid	No Bid		\$10.09	\$70.63	AS SPECIFIED	\$8.39	\$58.73	
Reference: Gall's Brand HEAVY DUTY LEATHER GLOVES	7	No Bid	No Bid		No Bid	No Bid		\$16.99	\$118.93	AS SPECIFIED	\$17.53	\$122.71	
Reference: Gall's GL214 VEHICLE FIRST AID KIT WITH NYLON POUCH	60	No Bid	No Bid		No Bid	No Bid		\$24.99	\$1,499.40	AS SPECIFIED	\$23.75	\$1,425.00	
Reference: Gall's EM118 Streamlight C4 LED	60	No Bid	No Bid		No Bid	No Bid		\$11.99	\$719.40	AS SPECIFIED	No Bid	No Bid	
Reference: Streamlight C4 LED IP-FL622 AC/DC Streamlight Holder (BW)	10	No Bid	No Bid		No Bid	No Bid		\$101.89	\$1,018.90	AS SPECIFIED	\$86.58	\$865.80	
Reference: NP-362 Galls ONE LINE PROFESSIONAL NAME PLATE	10	No Bid	No Bid		No Bid	No Bid		\$10.99	\$109.90	AS SPECIFIED	\$9.75	\$97.50	
*pin back *clutch back *magnetic back *polished or brushed finish *silver plate with blue letters *gold plate with blue letters Reference: Gall's NT017	60	No Bid	No Bid		No Bid	No Bid		\$5.99	\$359.40	AS SPECIFIED	\$7.90	\$474.00	BLACKINTON- J1
POLICE BADGES *Police Badges Rhodium (Block Letters - Blue) *Karat Klad Badge Reference: Blackinton	10	No Bid	No Bid		No Bid	No Bid		\$112.69	\$1,299.00	AS SPECIFIED	\$99.70	\$1,975.00	
SECURITY BADGES Reference: Gall's BC355	10	No Bid	No Bid		No Bid	No Bid		\$12.99	\$129.90	AS SPECIFIED	\$19.75	\$197.50	BLACKINTON A7073

Discription		Α	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT [Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quot	e		15%			10%	
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
Section III. Police Equipment													
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)		EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
PARTITIONS – EXPANDED METAL *aluminum construction *1 ½" x ¾: screen openings *must fit Ford Crown Victoria Police Interceptor *must fit Chevrolet Impala Police Package *from year model 2002 and up *1-year warranty Reference: Gall's SS072	10	No Bid	No Bid		\$455.08	\$4,550.80	GO RHINO INDUSTRIES MODEL 5700 FULL EXPANDED METAL UPPER SCREEN PARTITION		\$3,199.90	AS SPECIFIED	\$455.76	\$4,557.60	
9-K CANINE PARTITION *expanded metal ventilation to help the canine keep cool *1/4" thick with 12 ½" X 27" opening *must fit Ford Crown Victoria Police Interceptor *must fit Chevrolet Impala Police Package *from year model 2002 and up *1-year warranty Reference: Gall's SS078	5	No Bid	No Bid		No Bid	No Bid		\$329.99	\$1,649.95	AS SPECIFIED	\$548.82	\$2,744.10	
SECURITY SCREEN WITH PLEXIGLASS LOCKABLE, SLIDE WINDOW PARTITION *self-locking, one-hand operation *option for electric or manual windows *must fit Chevrolet Impala Police Package *from year model 2002 and up *3-year warranty Reference: Gall's SS016	10	No Bid	No Bid		\$480.08	\$4,800.80	GO RHINO INDUSTRIES MODEL 5700 FULL PLEXIGLASS SLIDING WINDOW PARTITION	\$350.00	\$3,599.90	AS SPECIFIED	\$520.19	\$5,201.90	
CITATION HOLDER *hinged plate conceals forms and prevents write-trough *top-opening *3/4" storage compartment with adjustable plastic divider *high capacity clip with swivel license holder *Velcro wraparound strip secures entire unit *rounded edges *heavy-duty aluminum construction *11 1/5"H x 6 ½ "W x 2 ½ "D Reference: Gall's CP007	10	No Bid	No Bid		No Bid	No Bid		\$13.99	\$139.90	AS SPECIFIED	\$16.68	\$166.80	SAUNDERS 12205

Discription		А	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT [Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quo	te		15%			10%	
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
100 WATT SIREN WITH TAP II *wail, yelp, and Hi-Lo tones *airhorn *tap II – horn activated functions *illuminated control panel *PA/radio rebroadcast *siren override provides instant PA use *wired in noise cancelling microphone *push-to-talk mic override *manual siren *wiring harness and bracket included *measures 2 ½ "H x 6 ½"W x 8 ½"D *5-year warranty Reference: Gall's SK023	10	No Bid	No Bid		\$287.71	\$2,877.10	FEDERAL SIGNAL MODEL PA300 PART # 690010 HAS ALL FEATURES LISTED TO LEFT.	\$229.99	\$2,299.90	AS SPECIFIED	\$259.68	\$2,596.80	
9-FUNCTION SWITCH CONTROL CENTER – Whelen *Directly interfaces with Whelen Edge® series. *Small diameter, 22 gauge, output wires reduce cable size to switch remote relays (not included) *4-position, 3-level slide switch with different LED indicators for three separate primary warning light controls *6 push button switches for secondary lightbar functions *Backlighted legend windows switch from green to red Reference: Gall's SE009	10	No Bid	No Bid		\$226.59	\$2,265.90	FEDERAL SIGNAL MODEL PA300 PART # 690000 FEATURES 6 ILLUMINATE D BUTTONS WITH FOUR POSITION SLIDE	\$139.99	\$1,399.90	AS SPECIFIED	\$153.45	\$1,534.50	
*wail, yelp, air horn, thunder, manual and two-tone sounds *meet class A sound requirements *automatic short circuit protection against speaker shorts *high/low voltage shutdown protection *LED backlighting *positive and negative switching for AUX and PKILL inputs *rotary knob selection *public address, radio repeat, hands free *2"H x 5 ¾ "W x 6 ¼ "D *7-year warranty Reference: Gall's SK124	10	No Bid	No Bid		\$394.06	\$3,940.60	FEDERAL SIGNAL MODEL PA640 PART # 640000 COMBINED LIGHT / SIREN CONTROLS WITH PA AND MICROPHON E		\$1,299.90	AS SPECIFIED	\$199.10	\$1,991.00	WHELEN 295SL100
CAR CONSOLE – makes installing electronics easy *Installs in the front seat or into the transmission hump and fits up to five electronic units. *must fit Ford, Crown Victoria Reference: Gall's VE013	10	No Bid	No Bid		No Bid	No Bid		\$164.99	\$1,649.90	AS SPECIFIED	No Bid	No Bid	

Discription		А	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT [Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quot	te		15%			10%	
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
100 WATT SIGNAL SPEAKER													,
Reference: Gall's SK179	10	No Bid	No Bid		\$886.40	\$8,864.00	FED-SIGNAL #750501	\$164.99	\$1,649.90	AS SPECIFIED	\$175.26	\$1,752.60	
LED MINI BAR *extruded aluminum chassis for strength and stability *flash patterns are selectable via internal jumpers *draws 2 amps *comes standard with an 8' cord and cigar plug for quick and easy installation *includes magnetic mount *must meet SAE requirements *5-year warranty *2.5"HY x 22"W x 12"D Reference: Gall's LB004	5	No Bid	No Bid		\$435.18	\$2,175.90	ECCO MODEL STREET LAZER PART # 15- 00011 E 23" LED MINI BAR	\$569.99	\$2,849.95	WHELEN LBZAAA SEE ATTACHED SPECS	\$706.20	\$3,531.00	WHELEN LT2AAAAM
LIGHTBAR WITH TRAFFIC ADVISOR *LED modules with two wire control *pre-wired with 15' passenger side cable exit *draws 5-7 amps *2 ½ "H x 48 ½ " W x 12" D Reference: Gall's LB008 RB	5	No Bid	No Bid		\$1,350.00	\$6,750.00	FEDERAL SIGNAL MODEL LEGEND PART # LOG45Y 45" LIGHT	\$1,800.00	\$9,000.00	WHELEN SX2SP2 SEE ATTACHED SPECS	No Bid	No Bid	
90 WATT HIDE-A-WAY STROBE SYSTEM Reference: Gall's GR225	10	No Bid	No Bid		\$164.69	\$1,646.90	ECCO MODEL 9660 PART# 9660- 1	\$272.99	\$2,729.90	AS SPECIFIED	\$231.00	\$2,310.00	WHELEN S690CCCC
FLASHER FOR VEHICLES WITH LIGHT CONTROL MODULE *two flash patterns *5-year warranty *2"W x 2"D x 4"L Reference: Gall's FS008	10	No Bid	No Bid		No Bid	No Bid		\$59.62	\$596.20	AS SPECIFIED	No Bid	No Bid	
SIX HEAD LED DECK MASTER *six heads of LED lights that fit around the third brake light of any vehicle *must meet SAE standards *5-year warranty Reference: Gall's GR241	10	No Bid	No Bid		\$423.25	\$4,232.50	SIGNAL MODEL LED DECK MASTER PART# DL16V-6V	\$238.49	\$2,384.90	AS SPECIFIED	\$388.23	\$3,882.30	
FORD CROWN VICTORIA POLICE HEADLIGHT PACKAGE *"no holes drilled" installation *three flash pattern *5-year warranty Reference: Gall's FS058	10	No Bid	No Bid		\$43.14	\$431.40	FEDERAL SIGNAL PART# FHLP- LV PLUG IN AND PLAY MULTIPLE ELASH	AL DOLL	No Bid	No Bid	No Bid	No Bid	

Discription		А	l & Rob	Sales	Ea	rl Owen	Co.		Gall's		GT [Distribu	tors, Inc.
Discount on any item not listed below or catalog item:			0%			Call for Quo	te		15%			10%	
ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
MINI PHANTOM MAX COMBO KIT *includes a dash light and two deck lights *includes full three rows of LEDs across the light for even brighter warning power *24 selectable flash patterns with push-button control *includes dash, deck, mirror, and suction cup mount *5-year warranty Reference: Gall's DL186	5	No Bid	No Bid		No Bid	No Bid		\$229.99	\$1,149.95	AS SPECIFIED	No Bid	No Bid	
2-WAY VHF RADIO SYSTEM *Motorola M400 Mobile Radio *40 watts 32 Channel Mobil VHF Antenna *Hi-Gain Installation on automobile with Power Cable Ant- Cable; connectors Reference: Motorola	10	No Bid	No Bid		No Bid	No Bid		No Bid	No Bid		No Bid	No Bid	
WHISTLES (fox) *Fox cushion whistles Reference: Gall's UA330	100	No Bid	No Bid		No Bid	No Bid		\$4.99	\$499.00	AS SPECIFIED	No Bid	No Bid	
ASP 26' Expandable Baton Reference: Galls BA036	10	No Bid	No Bid		No Bid	No Bid		\$62.16	\$621.60	MOAEDNOC K 2526 SEE	\$64.27	\$642.70	ASP-52611
ASP Baton Holder Reference: Galls BA009 (BW)	10	No Bid	No Bid		No Bid	No Bid		\$21.49	\$214.90	MOAEDNOC K 10022	\$27.96	\$279.60	
FINGERPRINT PAD Reference: Gall's LE137	15	No Bid	No Bid		No Bid	No Bid		\$18.99	\$284.85	AS SPECIFIED	\$19.96	\$299.40	

Section IV. Handguns

I ITEM	EST. QTY	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	_	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)	UNIT PRICE	EXT. PRICE	BRAND & MODEL PROPOSED (if other than specified)
MAGAZINES FOR HANDGUNS													
*high capacity and easy loading	25	No Bid	No Bid		No Bid	No Bid		No Bid	No Bid		\$19.90	\$497.50	
*made to fit Glock Model 17 9mm													
AMMUNITION – 9MM, 124 GRAIN, FULL METAL JACKET, SILVER TIP HOLLOW POINT – WINCHESTER													FEDERAL
*500 rounds per case	10	No Bid	No Bid		No Bid	No Bid		No Bid	No Bid		\$198.99	\$1,989.90	AE9AP
PLEASE INDICATE PRICE PER CASE													
AMMUNITION – 9MM, 124 Federal HST													
*500 rounds per case	10	No Bid	No Bid		No Bid	No Bid		No Bid	No Bid		\$309.47	\$3,094.70	
PLEASE INDICATE PRICE PER CASE													